— =LA O
k=1 Jod ko) -||
o3 "y ¢ nte A D | 4. o= "3 o] 72, Al29] Zol7t ZVZt 6em , 8cm
ABCD oA 4B = 60° ol ZA}Ztgo] 9tk AHIBD &1 & o, AH + BD
o|al, Wol7t 24y/3 & d, o] k& ot
OABCD 9] gt Ho] Zo]lE Ao C 6em -
= AT ~D
“Fotoiat,
H SL‘:m
B c

]

B HAI9lol ot ol A
of WHsteS JAHAE =
AlrS el o2 gt
o] 3F W] Zol]&E 16 o=

o, HA12] 250l F

>,

O

9

Al
=

4

Z]-ao]:

4k Golojof sH=7}?

i

@ 15v2
@ 16V3

@ 15V3
® 17V2

S

—

® 16v2

Fhzet o] Zolo] Hl7h 2. 3 o] B4l e] o]zt
13 & AR 0] Selo] olg Fatelel.

_T% ;‘(:'q A(av 4)7 B(*’?v b) =
o, AB ] Zo]&?

F99 Hu7 (-1, 5

@ V37

337
2

@ 237
V37
T2

® 4437
®

2]

K
=374

=

fle

A,

OJF y = —a? +8x— 16 ] TLefo]
) tod

Ui 4e B o ¢, ABS| Zolg

oli

=z +4x+49]'y—2m —4x+5 9
AA Afole] A2ls Fatoiat,

Aa




H?
Da=VEy=vi @ a=Viy=0
@x:?’y:\/g @33:\@3/:?
© z=V3y= \f

10. o5 -3 22 H 74t .
7+ ABC °|A BC 9
AolE oY

6
® 2 @ V3
14450 -

®3v2 @ 12 B .
® 6v2

11. o2 2% AABC o4 AB = 7cm, BC =
8cm, CA = 9cm ¥ m, AABC 9] Yo]& F5}o]

12. & 18% %
o] ZACB —
45°, ZCAD 30°

A o, z 9] Aol&?

@3\2/6 @37\/3 ®5\2/6

13. t& a9 4 AH <
BC = A2 Audttn
& uf, CH 9] dol&?

D11 @12 O 13

@ 14

® 15

14. thg 29 259 Aojrt

)

18cm ?_] 4= _j_% Zﬂo]]:}- o]
Ao wo] 7 2 Azt

=

@ \/§Cm @ 5\/§Cm

@ 3v2cm

® 7v2em ® 9v2cm




16.

17.

t}S 183 Zo] AB = BC ©]2 AC = 10em ¢
o] 5 ABC o] HAC & & ¥lo= o= A4
7}9 CDA & 1594 BD = 8v3cm ¥ 1, AB 9
Zo)=?

A

\

\
®© Vi3em @ Videm  ® 2VI3em
@ 2y/14cm ® 2v15cm ®

D(4a O) = 1‘—7‘31@9_% 6]—% /\]—7_]-’6‘3] ABCD & 01%

A2E Q1A Fsfoler,

o2 199 AABC
AN sA = T75°
/C = 60° & of

AABC 9] {ol& 7
stolet.

18.

20.

O 2™ go] Al ¥ A

of golts, 6, 7A A SNC-

7Yy ABC 9] ol h gt 5/ \7\

Stal, WolE s ek & o,

S_hg’]%}\-%() Il \‘\
B~ —c

@ 5v6 ® 66

@® 2 @ 22 ® 3
@ 2v3 ® 32

Cy s 1 1
Oy = —pa® + 20— 1Py = a® +20+16
o] o] T HAIH Afo]o] Ae=?
@9 @ V15 ® 11
@ 13 ® 35




21. g A 29,

A2

@ 3v2

@ 26
® 4v3
@ 4V6
® 7v2

22. 9o WiHshs A824 9] Wolrt 54v3em?

A0) 452 Fotolet.

23. g ¥9] Zo|7t 8 91 FAHA
ABCD A AHLBD & ufj, AH
o] do]&=?
® 2v2 @ 3v2
B 42 @ 52

® 6v2

24. o5 o 9 Zoj7t 89l ks
X ABCD 9] tiZ44d AC €} BD
of dol& +stofz=t.

o,
A _--8--D
\\I\
“H
B C
A k-]
SN 60
8
I
D




